

Exercise - 9(x)

$$X(i) \quad \int_0^{\frac{\pi}{2}} \frac{dx}{1 + \tan x}$$

ପ୍ରଥମ ବୁକ୍‌ସ
COMPETITIVE
BOOKS
ଓଡ଼ିଶା Board
and NCERT
All Books With Solutions
OBS

$$\begin{aligned} &= \int_0^{\frac{\pi}{2}} \frac{1}{1 + \tan x} dx \\ &= \int_0^{\frac{\pi}{2}} \frac{1}{1 + \tan x} dx \end{aligned}$$

$$\Rightarrow \frac{\pi}{2} \int_0^{\frac{\pi}{2}} \frac{qu}{1 + \tan u} = I$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{qu}{1 + \tan(\frac{\pi}{2} - u)} du$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{qu}{1 + \cot u} du$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{qu}{1 + \frac{1}{\tan u}} du$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{qu \tan u}{\tan u + 1} du$$

$$= \frac{\pi}{2} \int_0^{\frac{\pi}{2}} \frac{\tan u}{\tan u + 1} du$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{\tan u + 1 - 1}{\tan u + 1} qu du$$

$$I = \int_0^{\frac{\pi}{2}} \left(\frac{\tan u + 1}{\tan u + 1} - \frac{1}{\tan u + 1} \right) qu du$$

$$= \frac{\pi}{2} \int_0^{\frac{\pi}{2}} 1 qu du - \frac{\pi}{2} \int_0^{\frac{\pi}{2}} \frac{qu}{1 + \tan u} du$$

$$\Rightarrow I = \frac{\pi}{2} \int_0^{\frac{\pi}{2}} 1 du - I$$

$$\Rightarrow I + I = \pi \int_0^{\frac{\pi}{2}}$$

$$\Rightarrow 2I = \frac{\pi}{2}$$

$$\Rightarrow I = \frac{\pi}{2} \times \frac{1}{2} = \frac{\pi}{4}$$

$$(ii) \int_0^{\frac{\pi}{2}} \frac{\sqrt{\sin u}}{\sqrt{\sin u + \cos u}} du = I$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{\sqrt{\sin u}}{\sqrt{\sin u + \cos u}} du \quad \text{--- (1)}$$

$$\Rightarrow I = \int_0^{\frac{\pi}{2}} \frac{\sqrt{\sin(\frac{\pi}{2} - u)}}{\sqrt{\sin(\frac{\pi}{2} - u) + \cos(\frac{\pi}{2} - u)}} du \quad \text{--- (2)}$$

$$= I = \int_0^{\frac{\pi}{2}} \frac{\sqrt{\cos u}}{\sqrt{\cos u + \sin u}} du \quad \text{--- (3)}$$

$$\Rightarrow I + I = \int_0^{\frac{\pi}{2}} \frac{\sqrt{\sin u}}{\sqrt{\sin u + \cos u}} du + \int_0^{\frac{\pi}{2}} \frac{\sqrt{\cos u}}{\sqrt{\sin u + \cos u}} du \quad \text{Adding eqn (1) and (2)}$$

$$\Rightarrow 2I = \int_0^{\frac{\pi}{2}} \frac{\sqrt{\sin u} + \sqrt{\cos u}}{\sqrt{\sin u + \cos u}} du$$

$$\Rightarrow 2I = \int_0^{\frac{\pi}{2}} 1 du = \pi \int_0^{\frac{\pi}{2}}$$

$$\Rightarrow \frac{d}{dx} = \frac{\pi}{2}$$

$$\Rightarrow I = \frac{\pi}{2} \times \frac{1}{2} = \frac{\pi}{4}$$

$$\therefore \int_0^{\frac{\pi}{2}} \frac{\sqrt{\sin u}}{\sqrt{\sin u} + \sqrt{\cos u}} du = \frac{\pi}{4}$$

$$\text{Qii) } \int_0^1 \frac{\ln(1+u)}{1+u^2} du = I$$

$$\text{let } u = \tan \theta$$

$$\Rightarrow \theta = \tan^{-1} u \quad \left| \begin{array}{l} u = \tan \theta \\ \frac{du}{du} = \frac{d \tan \theta}{d\theta} \cdot \frac{d\theta}{du} \end{array} \right.$$

$$\text{for } u=0, \theta=0$$

$$\text{for } u=1, \theta = \tan^{-1} 1$$

$$= \tan^{-1} \tan \frac{\pi}{4} = \frac{\pi}{4}$$

$$\int_0^{\frac{\pi}{4}} \frac{\ln(1+\tan \theta)}{1+\tan^2 \theta} \sec^2 \theta d\theta$$

$$= \int_0^{\frac{\pi}{4}} \frac{\ln(1+\tan \theta)}{\sec^2 \theta} \sec^2 \theta d\theta \quad \left(\int_a^b f(x) dx = \int_b^a f(x) dx \right)$$

$$\Rightarrow I = \int_0^{\frac{\pi}{4}} \ln(1+\tan(\frac{\pi}{4}-\theta)) d\theta$$

$$= \int_0^{\frac{\pi}{4}} \ln \left(1 + \frac{\tan \frac{\pi}{4} - \tan \theta}{1 + \tan \frac{\pi}{4} \cdot \tan \theta} \right) d\theta$$

$$= \int_0^{\frac{\pi}{4}} \ln \left(\frac{1 + \cancel{\tan \theta} + 1 - \cancel{\tan \theta}}{1 + \tan \theta} \right) d\theta$$

$$= \frac{\pi}{4} \int_0^{\frac{\pi}{4}} \ln \frac{2}{1 + \tan \theta} d\theta$$

$$= \int_0^{\frac{\pi}{4}} \left[\ln 2 - \ln(1 + \tan \theta) \right] d\theta$$

$$\left[\because \tan \frac{\pi}{4} = 1 \right]$$

$$\Rightarrow I = \int_0^{\frac{\pi}{4}} \ln 2 d\theta - \int_0^{\frac{\pi}{4}} \ln(1 + \tan \theta) d\theta$$

$$\Rightarrow I = \int_0^{\frac{\pi}{4}} \ln 2 d\theta - I$$

$$\Rightarrow 1 + I = \int_0^{\frac{\pi}{4}} \ln 2 d\theta$$

$$= \ln 2 \left[\theta \right]_0^{\frac{\pi}{4}}$$

$$\Rightarrow 2I = \ln 2 \times \frac{\pi}{4} - \ln 2 \times 0$$

$$\Rightarrow I = \frac{1}{2} \times \frac{\pi}{4} \ln 2$$

$$\Rightarrow \frac{\pi}{8} \ln 2$$

$$\int_0^1 \frac{\ln(1+u)}{1+u^2} du = \frac{\pi}{8} \ln 2$$

(iv)

$$\int_0^{\pi} \frac{u}{1+\sin u} du$$

$$I = \int_0^{\pi} \frac{u}{1+\sin u} du$$

$$\left(\int_0^a f(u) du = \int_0^a f(a-u) du \right)$$

$$\Rightarrow I = \int_0^{\pi} \frac{\pi-u}{1+\sin(\pi-u)} du$$

$$= \pi \int_0^{\pi} \frac{1}{1+\sin u} du - \int_0^{\pi} \frac{u}{1+\sin u} du$$

$$\Rightarrow I = \pi \int_0^{\pi} \frac{1}{1+\sin u} du - I$$

$$\Rightarrow I + I = \pi \int_0^{\pi} \frac{1}{1+\sin u} du$$

$$\Rightarrow 2I = \pi \int_0^{\pi} \frac{1-\sin u}{(1+\sin u)(1-\sin u)} du$$

$$= \pi \int_0^{\pi} \frac{(1-\sin u)}{(1-\sin^2 u)} du$$

$$= \pi \int_0^{\pi} \frac{(1-\sin u)}{\cos^2 u} du$$

$$= \pi \left[\int_0^{\pi} \frac{du}{\cos 2u} - \int_0^{\pi} \frac{\sin u}{\cos 2u} du \right]$$

$$= \pi \left[\int_0^{\pi} \sec 2u du - \int_0^{\pi} \frac{\sin u}{\cos 2u} \cdot \frac{1}{\cos u} du \right]$$

$$= \pi \left[(\tan u) \Big|_0^{\pi} - \int_0^{\pi} \sec u \tan u du \right]$$

$$= \pi \left[(\tan u) \Big|_0^{\pi} - \sec u \Big|_0^{\pi} \right]$$

$$= \pi \left[\tan \pi - \tan 0 - \sec \pi - \sec 0 \right]$$

$$= \pi [0 - (-1 - 1)]$$

$$\Rightarrow 2I = \pi \cdot 2$$

$$\Rightarrow I = \frac{2\pi}{2}$$

$$= \pi$$

$$\therefore \int_0^{\pi} \frac{u}{1 + \sin u} du = \pi$$

$$\text{Ex) } \int_{-a}^a u f(u) du$$

$\Rightarrow$ Here $u f(u)$ is even funⁿ

$$= 2 \int_0^a u f(u) du$$

$$\left[\begin{aligned} & \int_{-a}^a f(u) du \\ &= \int_{-a}^0 f(u) du + \int_0^a f(u) du \\ & \text{if } f(u) \text{ is even} \\ & f(u) = f(-u) \\ & f(-u) = f(u) \end{aligned} \right]$$

$$= 2 \left[\frac{x^5}{5} \right]_0^9$$

$$= 2 \left(\frac{a^5}{5} - 0 \right)$$

$$= \frac{2}{5} a^5$$

(on) (i) $\int_a^9 x^4 dx$

$$= \frac{x^5}{5} \Big|_a^9$$

$$= \frac{1}{5} (a^5 - a^5)$$

$$= \frac{1}{5} (a^5 - a^5)$$

$$= \frac{2}{5} a^5$$

(ii)

$$\int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \sin x dx \quad \left| \sin x (-x)^2 = (-\sin x)^2 \right.$$

$$= -\sin x$$

odd function

Here $\sin x$ is odd function.

$$\int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \sin x dx = 0$$

Date 7.12.23

$$\begin{aligned} \text{2/ii)} \quad \int_{-a}^a (a^5 + 2u^2 + u) du &= \left[\frac{u^6}{6} + \frac{2u^3}{3} + \frac{u^2}{2} \right]_{-a}^a \\ &= \frac{1}{6} (a^6 - a^6) + \frac{2}{3} (a^3 + a^3) + (a^2 - a^2) = \frac{4a^3}{3} \end{aligned}$$

$$\text{iii)} \quad \int_{-\frac{\pi}{4}}^{\frac{\pi}{4}} \cos 2u du = \int_{-\frac{\pi}{4}}^{\frac{\pi}{4}} \frac{1 + \cos u}{2} du$$

$$= \frac{1}{2} \int_{-\frac{\pi}{4}}^{\frac{\pi}{4}} du + \frac{1}{2} \int_{-\frac{\pi}{4}}^{\frac{\pi}{4}} \cos u du$$

$$= \frac{1}{2} \left[u \right]_{-\frac{\pi}{4}}^{\frac{\pi}{4}} + \frac{1}{2} \left[\sin 2u \right]_{-\frac{\pi}{4}}^{\frac{\pi}{4}}$$

$$= \frac{1}{2} \left(\frac{\pi}{4} + \frac{\pi}{4} \right) + \frac{1}{2} \left(\sin \frac{\pi}{2} + \sin \frac{\pi}{2} \right) = \frac{\pi}{4} + \frac{1}{2}$$

$$\text{2/i)} \quad \int_0^{\pi} \cos^3 u du = \int_0^{\pi} \frac{\cos 3u + 3 \cos u}{4} du$$

$$= \frac{1}{4} \left\{ \int_0^{\pi} \cos 3u du + 3 \int_0^{\pi} \cos u du \right\}$$

$$= \frac{1}{4} \left\{ \left[\frac{1}{3} \sin 3u \right]_0^{\pi} + 3 \left[\sin u \right]_0^{\pi} \right\}$$

$$= \frac{1}{12} (\sin 3\pi - \sin 0) + \frac{3}{4} (\sin \pi - \sin 0) = 0$$

$$\text{ii)} \quad \int_0^{\pi} \cos 2u du = \int_0^{\pi} \frac{1 + \cos 2u}{2} du$$

$$(iii) \int_0^{\pi} \left(u + \frac{\sin 3u}{3} \right) du = \frac{1}{3} \cdot \pi = \frac{\pi}{3}$$

$$\int_0^{\pi} \sin 3u \cdot \cos u \, du \quad \left\{ \begin{array}{l} \text{put } \sin u = t, \text{ then} \\ \cos u \, du = dt \\ \text{when } u=0, \text{ when} \\ u=\pi, t=0 \end{array} \right.$$

$$= \int_0^0 t^3 \, dt = 0$$

$$(iv) \int_0^{\pi} \cos 2u \cdot \sin u \, du \quad \left\{ \begin{array}{l} \text{put } \cos u = t, \text{ Then} \\ \sin u \, du = -dt \\ \text{when } u=0, t=1 \\ \text{when } u=\pi, t=-1 \end{array} \right.$$

$$= \int_1^{-1} t^2 (-dt) = \int_1^{-1} -t^2 \, dt = \left[-\frac{t^3}{3} \right]_1^{-1}$$

$$= -\frac{1}{3} + \frac{1}{3} = 0$$

$$x) I = \int_0^{\pi} \frac{\ln u}{\sqrt{1-u^2}} \, du$$

$$\text{let } u = \sin u \rightarrow u = \sin t$$

$$du = \cos u \, du$$

$$\text{for } u=0, u=0$$

$$u=1, u=\frac{\pi}{2}$$

$$I = \int_0^{\frac{\pi}{2}} \frac{\ln \sin u}{\sqrt{1-\sin^2 u}} \cdot \cos u \, du$$

$$= \int_0^{\frac{\pi}{2}} \frac{\ln \sin u}{\cos u} \cdot \cos u \, du$$

$$= \int_0^{\frac{\pi}{2}} \ln(\sin u) du \quad \text{--- (1)}$$

we know, $\int_0^a b(u) du = \int_0^a b(a-u) du$

$$\begin{aligned} I &= \int_0^{\frac{\pi}{2}} \ln \sin \left(\frac{\pi}{2} - u \right) du \\ &= \int_0^{\frac{\pi}{2}} \ln \cos u du \quad \text{--- (2)} \end{aligned}$$

Adding eqn (1) & (2) we get

$$\begin{aligned} \Rightarrow 2I &= \int_0^{\frac{\pi}{2}} \ln(\sin u) du + \int_0^{\frac{\pi}{2}} \ln(\cos u) du \\ &= \int_0^{\frac{\pi}{2}} \ln \left(\frac{2 \sin u \cdot \cos u}{2} \right) du \quad \left(\begin{array}{l} 2 \text{ ଫକ୍ଟର} \\ 2 \text{ ଫକ୍ଟର} \end{array} \right) \\ &= \int_0^{\frac{\pi}{2}} \ln(\sin 2u) du \\ \Rightarrow 2I &= \int_0^{\frac{\pi}{2}} \ln(\sin 2u) du - \int_0^{\frac{\pi}{2}} \ln 2 du \end{aligned}$$

Let $2u = z$

$2 du = dz$

$\therefore du = \frac{dz}{2}$

For $u=0, z=0$

$u = \frac{\pi}{2}, z = \pi$

$$2I = \int_0^{\pi} \ln(\sin z) dz - \ln 2 \left(\frac{\pi}{2} \right)$$

$$= \int_0^{\pi} \ln \sin z dz - \ln 2 \left(\frac{\pi}{2} \right)$$

$$2I = I - \ln 2 \left(\frac{\pi}{2} \right)$$

$$2I - I = \frac{\pi}{2} \ln 2^{-1}$$

$$\Rightarrow \int_0^1 \frac{\ln u}{\sqrt{1-u^2}} du = \frac{\pi}{2} \ln \frac{1}{2}$$

$$\int_a^b f(x) dx = \int_a^b f(a-x) dx$$

$$f(a-x) = f(x)$$

$$f(a-x) = f(x)$$

$$f(x) = \ln \frac{1}{2}$$

$$(ii) \int_0^{\pi} x \ln(\sin x) dx = \frac{\pi^2}{2} \ln \frac{1}{2}$$

$$\text{Let } I = \int_0^{\pi} (\pi-x) \ln(\sin(\pi-x)) dx$$

$$\left(\int_a^b f(x) dx = \int_a^b f(a-x) dx \right)$$

$$= \int_0^{\pi} \pi \ln(\sin x) dx - \int_0^{\pi} x \ln(\sin x) dx$$

$$\Rightarrow I = \pi \int_0^{\pi} \ln(\sin x) dx - I$$

$$\rightarrow I + I = \pi \int_0^{\pi} \ln(\sin u) du$$

$$\rightarrow 2I = \pi \int_0^{\pi} \ln(\sin u) du$$

Here $h(u) = \ln \sin u$

$$\begin{aligned} b(\pi - u) &= \ln \sin(\pi - u) \\ &= \ln(\sin u) \\ &= b(u) \end{aligned}$$

$$\rightarrow 2I = 2\pi \int_0^{\frac{\pi}{2}} \ln(\sin u) du \quad \text{--- (2)}$$

$$\begin{aligned} \text{Let } p &= \int_0^{\frac{\pi}{2}} \ln(\sin u) du \\ &= \frac{\pi}{2} \int_0^{\frac{\pi}{2}} \ln \sin\left(\frac{\pi}{2} - u\right) du \\ &= \frac{\pi}{2} \int_0^{\frac{\pi}{2}} \ln(\cos u) du \end{aligned}$$

$$\rightarrow p + p = \int_0^{\frac{\pi}{2}} \ln(\sin u) du + \int_0^{\frac{\pi}{2}} \ln(\cos u) du$$

$$\rightarrow 2p = \int_0^{\frac{\pi}{2}} \ln\left(\frac{\sin u \cdot \cos u}{2}\right) du$$

$$= \frac{\pi}{2} \int_0^{\frac{\pi}{2}} \ln(\sin u) du - \int_0^{\frac{\pi}{2}} \ln 2 du$$

$$\Rightarrow \partial p = p - \int_0^{\frac{\pi}{2}} \ln 2 \, du$$

$$\begin{aligned} \Rightarrow p &= -\ln 2 \left[u \right]_0^{\frac{\pi}{2}} \\ &= \ln 2 \cdot \left(\frac{\pi}{2} - 0 \right) \\ &= \frac{\pi}{2} \ln 2 \end{aligned}$$

Now eqn (1) becomes.

$$\pi \int_0^{\frac{\pi}{2}} u \ln(\sin u) \, du = \frac{\pi^2}{2} \ln 2$$

$$\begin{aligned} 5/v) \int_0^1 u (1-u)^{100} \, du &= \int_0^1 (1-u) (1-u)^{100} \, du \\ &= \int_0^1 (1-u) (1-u)^{100} \, du \\ &= \int_0^1 (1-u) (1-u)^{100} \, du \\ &= \int_0^1 (1-u) u^{100} \, du \\ &= \int_0^1 (u^{100} - u^{101}) \, du \\ &= \left[\frac{u^{101}}{101} - \frac{u^{102}}{102} \right]_0^1 \\ &= \frac{1}{101} - \frac{1}{102} = \frac{1}{10302} \end{aligned}$$

$$\begin{aligned}
 \text{(i)} \quad I &= \int_0^{\pi/2} \ln(\tan u + \cot u) \, du \\
 &= \int_0^{\pi/2} \ln\left(\frac{\sin^2 u + \cos^2 u}{\sin u \cos u}\right) \, du \\
 &= \int_0^{\pi/2} \ln\left(\frac{1}{\cos u \sin u}\right) \, du \\
 &= \int_0^{\pi/2} \ln\left\{(\cos u)^{-1}(\sin u)^{-1}\right\} \, du \\
 &= \int_0^{\pi/2} \ln(\cos u) \, du - \int_0^{\pi/2} \ln(\sin u) \, du \\
 &= -2 \int_0^{\pi/2} \ln(\sin u) \, du
 \end{aligned}$$

$$\left(\therefore \int_0^{\pi/2} \ln(\cos u) \, du = \int_0^{\pi/2} \ln(\sin u) \, du \right)$$

$$= -2 \left(-\frac{\pi}{2} \ln 2 \right) = \pi \ln 2$$

$$\text{(ii)} \quad I = \int_0^{\pi} \frac{u + \tan u}{\sec u + \tan u} \, du$$

$$= \int_0^{\pi} \frac{(\pi - u) \tan(\pi - u)}{\sec(\pi - u) + \tan(\pi - u)} du$$

$$= \int_0^{\pi} \frac{(\pi - u) \tan u}{\sec u + \tan u} du$$

$$= \int_0^{\pi} \frac{\pi \tan u}{\sec u + \tan u} du - \int_0^{\pi} \frac{u \tan u}{\sec u + \tan u} du$$

$$= \pi \int_0^{\pi} \frac{(\sec u - \tan u) \tan u}{\sec^2 u} du$$

$$\Rightarrow 2I = \pi \int_0^{\pi} (\sec u \tan u - \tan^2 u) du$$

$$= \pi \int_0^{\pi} (\sec u \tan u - \sec^2 u + 1) du$$

$$= \pi [\sec u - \tan u + u]_0^{\pi}$$

$$= \pi [(1 - 0 + \pi) - (1 - 0 + 0)]$$

$$= \pi (\pi - 2)$$

$$\Rightarrow I = \pi \left(\frac{\pi}{2} - 1 \right)$$

$$(iii) \quad I = \int_1^3 \frac{r \pi}{\sqrt{4 - u} + \sqrt{u}}$$

$$= \int_1^3 \frac{\sqrt{1 + 3 - u}}{\sqrt{4 - (1 + 3 - u)} + \sqrt{1 + 3 - u}} du$$

$$= \int_1^3 \frac{\sqrt{4-u}}{2\sqrt{u+\sqrt{4-u}}} du$$

$$\therefore 2I = I + I$$

$$= \int_1^3 \frac{\sqrt{u}}{2\sqrt{4-u+\sqrt{u}}} du + \int_1^3 \frac{\sqrt{4-u}}{2\sqrt{u+\sqrt{4-u}}} du$$

$$= \int_1^3 du = [u]_1^3 = 3-1 = 2$$

$$\therefore I = 1$$

ପ୍ରଥମ ଭାଗ
 COMPETITIVE BOOKS
 All Board and NCERT
 All Books With Solutions

$$\begin{aligned}
 (iv) \quad I &= \int_0^{\pi} \frac{u \sin u}{1 + \cos u} du \\
 &= \pi \int_0^{\pi} \frac{(\pi-u) \sin(\pi-u)}{1 + \cos(\pi-u)} du \\
 &= \pi \int_0^{\pi} \frac{\sin u}{1 + \cos u} du - \int_0^{\pi} \frac{u \sin u}{1 + \cos u} du \\
 &= \pi \int_0^{\pi} \frac{\sin u}{1 + \cos u} du - I \\
 \therefore 2I &= \int_0^{\pi} \frac{\sin u}{1 + \cos u} du \\
 &= \pi \int_1^{-1} \frac{dt}{1+t}
 \end{aligned}$$

where $\cos u = t$ - $\sin u \, du = dt$

$$= \pi \int_{-1}^1 \frac{dt}{1+t^2}$$

$$u=0 \rightarrow t=1$$

$$u=\pi \rightarrow t=-1$$

$$= \pi \left[\tan^{-1} t \right]_{-1}^1$$

$$= \pi \left[\tan^{-1} 1 - \tan^{-1} (-1) \right]$$

$$= \pi \left[\frac{\pi}{4} - \left(-\frac{\pi}{4} \right) \right] = \frac{\pi^2}{2}$$

ଓଡ଼ିଶା ରାଜ୍ୟ

COMPETITIVE BOOKS

ଓଡ଼ିଶା ଶିକ୍ଷା ବୋର୍ଡ
ଉଚ୍ଚ ମିଡ଼ିକାଲ
ଇଂଲିଶ ମିଡ଼ିକାଲ

All Books With Solutions

OBS

(vi)

$$I = \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} \frac{du}{1+\cot u}$$

$$= \frac{\pi}{3} \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} \frac{\sin u \, du}{\sin u + \cos u}$$

$$= \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} \frac{\sin\left(\frac{\pi}{6} - \frac{\pi}{3} - u\right)}{\sin\left(\frac{\pi}{6} + \frac{\pi}{3} - u\right) + \cos\left(\frac{\pi}{6} + \frac{\pi}{3} - u\right)} du$$

$$= \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} \frac{\cos u}{\cos u + \sin u} du$$

$$\begin{aligned}
 2I &= I + I = \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} \frac{\sqrt{\sin u}}{\frac{\pi}{6} \sqrt{\sin u} + \sqrt{\cos u}} du + \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} \frac{\sqrt{\cos u}}{\frac{\pi}{6} \sqrt{\sin u} + \sqrt{\cos u}} du \\
 &= \int_{\frac{\pi}{6}}^{\frac{\pi}{3}} du = [u]_{\frac{\pi}{6}}^{\frac{\pi}{3}} = \frac{\pi}{3} - \frac{\pi}{6} = \frac{\pi}{6} \\
 \Rightarrow I &= \frac{\pi}{12}
 \end{aligned}$$

(vii) $\int_0^{\infty} e^{ux} - [x] dx$

$b(u) = e^{ux} - [x] \quad \eta \in \mathbb{N}$

$$\begin{aligned}
 b(x+1) &= e^{x+1} - [x+1] \\
 &= e^{x+1} - [x] + 1 \\
 &= e^{x+1} - [x] - 1 \\
 &= e^x - [x] = b(x)
 \end{aligned}$$

The function is a periodic function

of period $T = 1$

$$\int_0^{\infty} e^{ux} - [x] dx$$

$$= 50 \int_0^1 e^{u-1} du$$

$$= 50 \int_0^1 e^{u-0} du$$

$$= 50 \int_0^1 e^u du = 50(e^1 - e^0)$$

$$= 50(e-1)$$

Date 95.12.23

$$4. (ii) I = \int_0^{\frac{\pi}{2}} \frac{\cos u - \sin u}{1 + \sin u \cos u} du$$

$$= \int_0^{\frac{\pi}{2}} \frac{\cos(\frac{\pi}{2} - u) - \sin(\frac{\pi}{2} - u)}{1 + \sin(\frac{\pi}{2} - u) \cos(\frac{\pi}{2} - u)} du$$

$$= \int_0^{\frac{\pi}{2}} \frac{\sin u - \cos u}{1 + \sin u - \cos u} du$$

$$\therefore 2I = \int_0^{\frac{\pi}{2}} \frac{\cos u - \sin u}{1 + \sin u \cos u} du + \int_0^{\frac{\pi}{2}} \frac{\sin u - \cos u}{1 + \sin u \cos u} du$$

$$= \int_0^{\frac{\pi}{2}} 0 du = 0$$